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Answer one question only.

(a) Explain what is meant by market-clearing (or equilibrium) price.

(b) Analyse how the price mechanism could be used to solve the problem of traffic
congestion.

(c) At present most education in the UK is provided by government free at point of use.
Evaluate the view that the private sector should replace the government as the main
provider of education in the UK. [16]

(a) Explain what is meant by price elasticity of supply. [8]

(b) Discuss some of the factors which might affect the price elasticity of supply of fresh fish.
[16]

(c) Evaluate the view that estimates of the price elasticities of demand and supply are too

unreliable to be of any practical value. [16]

(a) Explain what is meant by allocative efficiency. [8]

(b) Explain how competition and the profit motive should lead to the achievement of
productive and allocative efficiency in an economy. [16]

(c) Evaluate the view that market failure rather than efficiency is the more likely outcome of
the operation of free markets. [16]

THIS IS THE END OF THE QUESTION PAPER

3

www, StudentBounty.com
-Homework Help & Pastpapers


http://www.studentbounty.com
http://www.StudentBounty.com
http://www.studentbounty.com

SP (SM) T74915/2

www, StudentBounty.com
-Homework Help & Pastpapers


http://www.studentbounty.com
http://www.StudentBounty.com
http://www.studentbounty.com

